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M-I (PART - )

[3]

[A]

919 fa% g REMI (CHILD DEVELOPMENT AND PEDAGOGY)
3T : Rt g7 % a7 &7 & [ a8 Sfad REeT g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

qe WE-ge qheer § ‘G
a5’ HE fhaw © 7

(1) &

2) dF

(3) TN

4) U

frafafag & @ $H9-91 9D
FaerdrE 4 gefd 78 & 7

(1) aredd
2) R
(3) &

4) %higs

e & FEEee e @
ReSiagaR, HH-81 o 6 § 12 99
% g | Gafa § 7

(1) faEaE s Afdsa™
(2) U T ST

(3) AT 9 ool Ud STl

(4) IHGEE I Sl

Level-1/101

1.

[

iod

How many 'Black and White' cards are
included in Rorschach Ink-Blot Test ?

(I) Two
(2) Three
(3) Four
(4) Five

Which
psychologists

of

is not related with

one the  following

behaviourism ?
(1) Watson
(2) Skinner
(3) Hull

(4) Freud

According to Erikson's Theory of
which

stage is related to the age of 6 to 12

Psycho-social ~ Development,

years ?

(1) Trust versus mistrust

(2) Initiative versus guilt

(3) Autonomy versus shame and doubt

(4) Industry versus inferiority



[A]

Lo

|

|®

yfafead o feEh 9w fRefy #
HASoME T9E IO Bl §, SH
Rafg & o R @ a9 & o
q9aT 2t B dew @ 38 e
fpeeh & fear T ?

(1) R
(2) dHFeE®
(3) UEdg

(4) dreqq

TN Yo B fasia’ & Ye §

(1) &d
2) &
(3) TEihad

4) R=daw
e 4 aF AP B ARE AW
w® = P § fawe Rem R

i AT B T pHE-G iy
g7

(1) e fafer
(2) TGS fafer

(3) urE () fafey

(4) T g

Level-1/101

[4]

Lo

g

|®

Responses that produce a satisfying
effect in a particular situation become
more likely to occur again in that
situation. This law of learning given by

whom ?

(1) Skinner
(2) Thorndike
(3) Pavlov

(4) Watson

"The Drive Reduction

Motivation is given by :

Theory' of

(1) Hull
(2) Maslow
(3) Atkinson

(4) Richardson

Sheldon has divided all human beings
into different categories on the physical
dimension. What is this method of

personality study ?

(1) Trait Method

(2) Psychoanalytic Method
(3) Type Method

(4) Basic Instinct Method



[~

|

|«©

Frefafed & & s9-d1 S
Dived REO-ARW FetaT 78 ¢ ?

(1) TEHRI AEH
(2) LT GHIEE
(3) ARAN

(4) RS
gicanied fepar mr ?
(1) ©THE

(2) TR

(3) "R

4) FawE

gfg wd 4 SR §

(1) AT &

(2) aTERT B

(3) SATIEfERT T drmEser &l &
4) T q FE T

frfafad sl § & BH-a1 S=f &
AR e &l Feiad & & 7

(1) At ammEe

(2) diftes Ao

(3) =T R

4) 378 q @+

Level-1/101

[5]

[~

[

[©

[A]
Which of the following is not a learner
centered teaching-learning strategy ?
(1) Co-operative learning
(2) Problem solving
(3) Lecture
(4) Project

Who the "Three

Dimensional Theory of Intelligence' ?

propounded

(1) Stanford
(2) Sternberg
(3) Spearman
(4) Guilford

Growth and Development are the

product of :

(1) Heredity

(2) Environment

(3) Both Heredity and Environment

(4) None of these

Which of the following factors affect
the physical development of children ?

(1) Geographical Environment
(2) Nutritious Food

(3) Endocrine Glands

(4) All of these



[A]

frefefeg & @ 9@ & @
ERE 7&f B 7

() ¥
(2) i
(3) & RER

(4) Igdred

(4) 39 | FI3 T

Frfoied & & $F-a1 e &1 &
Rrsia 78 & ?

(1) s & sl
(2) T &1 Rsia
(3) YUFHT Fl fgid
@) fesm &1 Rsid

Level-1/101

[6]

11. Which of the following is not an innate

motive ?

(1) Hunger

(2) Sleep

(3) Pain Avoidance

(4) Achievement

The stage of obedience for avoiding
punishment is included in which level
of morality in Kohlberg's theory of

moral development ?

(1) Pre-conventional Morality

(2) Conventional Morality

(3) Post-conventional Morality

(4) None of these

Which of the following is not a

principle of development ?

(1) Principle of Inter-relation

(2) Principle of Variation

(3) Principle of Segregation

(4) Principle of Direction



Frefafad & & ®-a1 39 T 787
g7

oA Rt R
(1) 9gT LR
(2) FURYT B
(3) Fostran e

(4) SR ICEIES

uh e A el @ gemr f
“o’ F Sgded R’ Bl 8l 39
A % | et ‘g @1 Sgaed
‘g TG ol FE e TR &
AR BT B Th I & ¢

(1) g-diHsD

(2) FOED

3) A

4) T q FE T

qedl § goHIHedl H 6™ B,
foreprer & fop oM @ dift & 7

(1) iR
(2) AR
(3) SR
(4) St

Level-1/101

[Z]

[A]

Which of

incorrect ?

the following pair is

Basic Instinct Emotion
(1) Escape Fear
(2) Repulsion Anger
(3) Curiosity Wonder
(4) Appeal Distress

A teacher taught to the students that
plural of 'girl" is 'girls' with this learning
the students make plural of 'woman' is
'womans'. This is an example of which

type of transfer of learning ?
(1) Positive

(2) Negative

(3) Zero

(4) None of these

Developing creativity in children is

related to which dimension of

development ?
(1) Physical
(2) Mental
(3) Social
(4) Moral



[A]

fr=fefeg & § fF-9 afdg =
P T Jadl qEE & 7

(1) &d 0@ g

(2) TR

(3) SACTHAT

(4) ITaHT

‘gl B ATI-STTH T TH TR
2

(1) SMi&EH G T B

(2) AMEH qI& T Hl
(3) smfssh FafRT TeT H
(4) i AR qaeT &

aftrmeat @& oifghy, ST,
SUdie ug AR e 7 ofa¥ die-dl
faferranett &t ea® & °

(1) gmTes RRmE
2) ARFH faR=Tam

(3) Haesh faRFTa
4) i faR=an

Level-1/101

[8]

17. Which one of the following is a

projective technique of personality

measurement ?

(1) Play and Drama

(2) Interview

(3) Autobiography

(4) Observation

'‘Army-Alpha Test of intelligence' is a
type of :

(1) Verbal Group Test

(2) Non-verbal Group Test

(3) Verbal Individual Test

(4) Non-verbal Individual Test

The differences in attitude, interest,
achievement and learning

which

style of

learner indicates type of

differences ?

(1) Social differences

(2) Learning differences
(3) Emotional differences

(4) Individual differences



‘TF B e AR oo A &
FYe Feadl s fEs & d@Ee
fepre & FEiqTaR, 98 &ean ©

(1) Zaerar (Rfaahis)

(2) AR (FEreT)

(3) "G (gAfH)
(4) e (uffers)

MM # oefe e o f6d
W g off S S § 7

(1) A fossia

(2) G A sid

(3) reree sl

(4) RO Rl

TR & IS (9 & RSigaNR,
Frefafad & @ - fiaT &

fafy 78 & ?
(1) qfshgar
(3) g9 gfcHr

(2) 3Tifhd
(4) Gbids

Hled &1 eAfekied Ud i oy dre 9
et 21 3 PrTae s/ eamt © 7

(1) sfadafkmes Rrran
(2) enRm Rran
(3) T At Rand
) frifem Rrad

Level-1/101

[91]

[A]

'A little girl daily change the clothes of
her doll." According to Piaget's theory
of Cognitive development, this is called

as:
(1) Behaviourism
(2) Constructivism
(3) Humanism

(4) Animism

Insight theory of learning is also known

as :
(1) Constructive Theory
(2) Social Learning Theory
(3) Gestalt Theory

(4) Motivation Theory

According to Bruner's Theory of
Cognitive Development, which of the

following is not a mode of thinking ?
(2) Numeric
(4) Symbolic

(1) Enactive

(3) Iconic

The

quotient of Mohan are different from

personality and intelligence

Sohan. What are these differences
called ?

(1) Inter individual differences
(2) Expected differences

(3) Intra individual differences

(4) Observed differences



[A]

frfafed & @ @9-ar a8 W D
oIS qOeer § Heq 78 © ¢

(1) STYRY IWRT dadt H

2) gHi & 9 Fd9 H99 d Hefed
K]

(3) IER I e H
(4) ‘981 @ STAN el Haer P

=g & @ fF-a1 edr oTfeM
H ad 78 g 7

(1) et "

(2) ferenfeat &t ofa:fora

(3) A

(4) JafR ud arfed e

uh Qe g/ el & b g W
UM ‘ST Sfqaty qderr @ e
IS I Lol | I

(1) Iuafey

) PR

(3) AfsTErar

(4) FiRaa

Level-1/101

[10]

Which of the following task is not

related to "Torrance Test of creativity' ?

(1) Unusual uses related task

2

New relationship between pairs
related task
3)

Product improvement related task

(4) 'Ask and Guess' related task

Which of the following is not an

element of co-operative learning ?

(1) Large group

(2) Student's interaction

(3) Interdependence

(4) Individual and group accountability

What will be
'Children

administered by a teacher to a group of

measured through

Apperception Test'

students ?

(1) Achievement
(2) Attitude

(3) Aptitude

(4) Personality



[11]

[A]

27, ‘Gha 9T P9 TR & KA S 27. 'Sign language' is used for which type
% U JaeT § @ St © 7 of differently abled children ?
(1) HGIT araHef (1) Hearing disabled
2) IF Y (2) Visual disabled
3) Idq aTHe (3) Locomotor disabled
(4) 9T SraHd (4) Language disabled

28. ﬂ@ %l HHe-bl{h fEiq g 28. The group-factor theory of intelligence
TS &N A w7 is given by which psychologist ?
(1) geEs (1) Thorndike
(2) DISE] (2) Thurston
3) WEee (3) Spearman
(4) IHEd (4) Thomson

29. ‘99q 1 (S ®H AU 29. 'Basal Age' is related to the
Hefer 2 measurement of ........... .
(1) sl (1) Interest
(2) 5@ (2) Intelligence
(3) SAHEHA (3) Aptitude
4) g (4) Attitude

30. feanfear ® ws ¢ 30. Dysgraphiaisa:
(1) YT JH&HAT (1) Reading disability
(2) AT & (2) Writing disability
(3) TN Srear (3) Mathematical disability
@) AfTTh STeHaT (4) Expressive disability

Level-1/101 P.T.O



[A]

[12]

[T - II (PART - II)
A1 (B g 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

&3 : [T go7 & Fav a7 % fog qed afaa Rweq g

31.

e & @ B-a B ‘e @ e
W@ e 7

(1) s
(2) YT
(3) BE
(4) T
32. AW 9= @ I @ FIg G
ERAE
(1) foamE - yard
(2) fafeq - wiea
(3) fauar - ofgar
(4) IS - AT
33. Y I g q oFIT qEER B I
FIT
(1) 9@ & 9t AR 1 - 99 &
ST
(2) ¥rE W {9 - Fgq oeR-
hR HT

(3) SiE H e AT - THE &
AT

(4) TN MH@T - o9 & 9
TGRSl

Level-1/101

34.

frg fobe & ol 9= @ 3 W
g7

(1) 99K, fAam, et

(2) &9, 1, fauEd

(3) &M, WHI, 3

(4) T, T, 7

35. P9 f0pd & 9 I HlkqarE®

Hamg &

(1) ST, |eAT, SaE

(2) @, JEdI, b

(3) VAWM, T, A
(4) T, S, TR

3. H U T 8 HwEA IF A

Arqar | &R

(1) W 3/ g9 FeI Je1 S
2) ¥ gu 7 5 T

(3) TR g9 T Fer
4) ¥ g9 @ w&E A

37. P & @ &A1 = P @R OGR

T JaTEX B 7
(1) feAga
(3) e

(2) THHUSH
(4) IMET



38.

o quE T W [ ofgfET © 7

(1) POy - oy & Wfed

(2) ¥dfifed - 3l & oFgWa § W
(3) TIEEH - ETHA § W

(4) TS - ST & ot I T3 oM

39. 8 fopew o W 9= UgE B

T ?

(1) a=
(2) |
(3) =<

(4) e

40. AR # T H fwr debie B

e wraret gg -

(1) oTaurdt |eq sfftha & 2

(2) BIE [N B TG-AGHT FNet Il
(3) foeirig @@ Sta X <&l B
(4) FUY B RO S

41. 9 oy o Msa & W@ 78

g B ?

(1) a8 N R a= I Al T
(2) & g § & oM w@h @

(3) 5@ ¥ W uga, T $ oM

4) ¥ eEl 3 uRem R 3 S
g T

[13]

[A]

2. 9 foFw & = ‘@ SUE «/

fiffa 78 & °?
(1) sma=
(2) 3TAeTT

(3) SAagd
(4) g

43. =1 § 9 59 foew & ‘@ 9t

TgFd gC 8 7
(1) &, 9, &
2) 9,4
3) TS T

(ORI G|

44. -G O 9= GEaEE d W A

fafifg & ?
(1) AFR®
(2) =Tl
(3) S
(4) @

45. 791 7 @ W 9= FY T9E B

an | ffia 78 R 7
(1) %uig
(2) TeT
(3) weR
(4) =

Level-1/101



[A] [14]

IS (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option : 49. Choose the correct option to fill in the
'Espresso’ is blank :
(1) A passing fashion The bird ......... away.
(2) Something imaginary (1) s fly
(3) Strong coffee brewed by steam 2) way fly
pressure (3) has flown
(4) A female goat (4) had flied
471. Choose the correct option for the 50. The idiom 'To wash one's hands of'
underlined word : means :
This is the boy who works hard. (1) To make money very rapidly
(1) Adverb (2) To live within his income

(2) Pronoun (3) To not to do as told

(3) Adjective (4) To refuse to accept responsibility

(4) Noun 51. Choose the correct sentence :

(1) Six people lost their life in the
48. Choose a suitable option :

accident.
We ....... keep our promise (obligation). (2) Six people lost their lives in the
(1) may accident.
(2) can (3) Six people loss their life in the
accident.
(3) should (4) Six people loose their life in the
(4) might accident.

Level-1/101



Fill in the correct option in the blank :

Karim is tall, ........ Abdul is taller.
(1) so

(2) but

(3) than

(4) before

Choose the correct tense form :

I'm sure she ........ the examination.

(1) will pass
(2) has been passed
(3) is being pass

(4) had been passed

The word 'noisy' means :
(1) Reveal

(2) Spoken

(3) Loud

(4) Clear

The antonym of 'Copy'is :
(1) Verity

(2) Cunning

(3) Produce

(4) Original

Level-1/101

[15]

[A]

The synonym of 'Ugly' is :

(1) Single

(2) Hideous

(3) Desire

(4) Polite

Choose the correct option :

Tendulkar is the ......... batsman in the

world.

(1) good

(2) better

(3) much better

(4) best

Select the correct option for the blanks :

I have ....... hour and ........ half for

lunch.

(1) a,the
(2) an,a
(3) an, an

4) a,a



[A]
59. Choose the correct Preposition for the
blanks :
He goes ..... Church ....... Sundays.
(1) for, at
(2) from, or
(3) in, an

(4) to, on

[16]

60. Choose the correct

substitution :

A study of living things.
(1) Biology

(2) Chemistry

(3) Ecology

(4) Botany

one-word

Level-1/101
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[A]

AR - ITI (PART - III)
YW 3199 (GENERAL STUDIES)

B T, diiched STRIEHaT el 9 19 U4 IfSIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3 : e 797 % a7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62. I 'NIGHT

fpee Tfera afies TXa &7 & &Y |
B g7 8 a9 F WE H G A
S ?
(1) 10%

) 12%%

3) 12%

4) 11%%

® HE 58 &, a
3d@ Yed W 'ANGER' & $is &1

g ?
(1) 40 (2) 42

(3) 41 4) 45

63. FfaiEg @& @ | 8 fhas 7

g M8 wed ®% @ dE §, fhg
3% 9 | Pig fOvq g el § 7

437523721367542742712276572
(1) 3 (2) 4

3) 1 4) 2

Level-1/101

61.

At what simple interest rate percent
per annum will a sum of money

double in 8 years ?

(1) 10%

@) 12%%

3) 12%

) 11%%
If the code for 'NIGHT' is 58, then in

the same pattern what will be the

code for 'ANGER' ?
(1) 40 (2) 42

(3) 41 4) 45

63. How many 7's are there in the

following number series which are
preceded by an even number but not
followed by any odd number ?

437523721367542742712276572
(1) 3 (2) 4

3) 1 4) 2



[A]

64.

Th AR 400 W & BT T W
320 M 9 [T B, O IAH AN

i8R ¢
(1) 10% (2) 15%

(3) 20% 4) 25%

65. A 5l & @l 24 R’ & & Fepal

g AT B @ HEEHAT A q 60%
aftes B, A Sl 1 B FA F B &
fpe fe o ?

(1) 18
3) 15

2) 17
) 12

fpelt T B T R AeTE B HAST:
30% Td 20% Sel f&ar 9d, @ I
g A STEd B AART O B Ak

9 fFem % ST 8w ?
(1) 56% (2) 54%
(3) 42% 4) 46%

67. IX UH I H A% A, BT roqEr

Ry C &, @ = § | a-a &
g7

(1) rC=24
C r
@ 473

2
r
3) AC =

4 2-c
r

Level-1/101

[18]

A man sells 320 mangoes at the cost
price of 400 mangoes. His gain

percentage is :
(1) 10% (2) 15%

(3) 20% 4) 25%

65. A can do a piece of work in 24 days.

If B is 60% more efficient than A,
then the number of days required by
B to do the same piece of work is ?
(1) 18 2) 17

3) 15 4) 12

The length and breadth of a square
are increased by 30% and 20%
respectively. The area of rectangle so
formed exceeds the area of the

square by :
(1) 56% (2) 54%
3) 42% 4) 46%

67. If the area of a circle is A, radius r

and circumference is C, then which
of the following is true ?

(1) 1C=24

C r
@ AZE
1,2

@) 2-c
r



68.

A |8 @ & M 10 9
o, 6 o1& IO Bl AN ST Tl
15 Wi e, §69% o1& TI9e B AN
7T ofR 12 HieX =@, 3% & afr
F SR ST M 15 Wex =am o |
A WY R g ST § ?

(1) 2 HieX (2) 3 HieX
(3) 4 HiX (4) 5 "X
102 5 qo Ho go TR ?
61836

5 25
H — 2) =
(1) Y ()

25 5

= 4) —
©) 36 @ 18

IR gt B AH, A9 B U8, U8
S SRS, STH B A FHal T,
A A hE T /T 7

(1) 9=t
(2) 9
(3) SIS
(4) dEr

71, IR x:\/3018+\/36+\/@, @ ox

1 9 1 3R 7
(1) 42 (2) 44

(3) 55 4) 45

Level-1/101

[19]

68.

[A]

I walked 10 m to the East from my
house, then turned North and walked
another 15 m, then I turned West and
covered 12 m, and then turned South
and covered 15 m. How far am I

from my house now ?

(1) 2m (2) 3m

(3) 4m (4) 5m
69. What is the HCF of E,Q,E?
6 18 36

5 25

1) — 2) —

(D 36 (2) 5

25 5

3) — 4) —

3) 6 4) 8

If water is called food, food is called
tree, tree is called sky, sky is called
wall, then on which of the following

grows a fruit ?
(1) Water

(2) Food

(3) Sky

(4) Wall

1. If x=\/3018+\/36+\/169, then

what is the value of x ?
(1) 42 (2) 44

(3) 55 4) 45



[A]

12.

I Rl T B IR &6 616
o &, A I B H’m er ?

(1) 59 (2) 6 qH

(3) 78 (4) 8 ot

(0.7 +0.6—0.5) & 79 F1 8T ?
7 8

(D) ) (2) P
1 4

(3) 3 4) 9

(281 x 15 x 16 x 18) & T°HEA &
WGW@TH:
(1) 8 (2) 6

(35 4 0

= e § T 9E e BIm ?

ZB, YD, XF, WH, V], UL, TN, .....

(1) ST (2) SP

3) UT 4) CT

39 I% B T HIOTC I TF d9 §
B

(1) i
(2) qEER
(3) ™

(4) TS

Level-1/101

[20]

72. The surface area of a sphere is 616

75. What

sg. cm, then what will be its radius ?
(1) 5cm (2) 6¢cm

(3) 7cm (4) 8cm

73. What is the value of (0.7 +0.6—-0.5) ?

7 8
) — 2) —
ey 5 (2) 5
1 +
3) — 4) —
3) 3 “4) 5
The wunit digit in the product

(281 x 15 % 16 % 18) is :

() 8 (2) 6
3) 5 4 0
will come next in the

following series ?

/B, YD, XF, WH, V], UL, TN, .....

(1) ST (2) SP

3) UT 4) CT

Choose the word which is different
from the other three :

(1) Pistol
(2) Sword
(3) Gun
(4) Rifle



11.

TH IATE! S 700 Hiex = 7, 72
et /gver @ TRIR ¥ 9@ W@ Bl 3Rk
q€ Th JH HI 1 FFe § IR T ol
%,@TW??[W‘E%W:

(1) 505 #rex
(2) 510 Hrex
(3) 500 Hex
(4) 515 H@eX

fdl ive fe ao § 24685 @
33776 fo@n S B, @ I FT A
¥ 35791 & 4 for@n S ?

(1) 44826 (2) 44882
(3) 44682 (4) 44680

e % U9H S @ A9 T 999
YT bl Y %I B@H%REHH*GI'H
fadm e # goaX 88 3 WM W
& 3 i

35:6::120: 7
(1) 11 (2) 10
3) 9 “4) 12

(ka2 | N e ) R R O | o
I

10, 12, 16, 24, 40, ...
(1) 60 2) 56
(3) 70 4) 72

Level-1/101

11.

[A]

A train 700 metre long is running at
the speed 72 Km/hr. If it crosses a
tunnel in 1 minute, then the length of

the tunnel is :
(1) 505 metre
(2) 510 metre
(3) 500 metre
(4) 515 metre

In a certain code language, 24685 is
written as 33776, how will 35791 be
written ?

(1) 44826
(3) 44682

(2) 44882
(4) 44680

79. The first pair of numbers bear a certain

relationship. The same relationship is
required to be found in the other pair,
Find that missing number :

35:6::120: 7
(1) 11 (2) 10
3) 9 4 12

80. Find the next term of the following

number series :

10, 12, 16, 24, 40, ....
(1) 60 (2) 56
(3) 70 4) 72



[A]

8l1.

82. i@ # 144 faumaer d fouer &

A B ?

(1) < fase @t
2) & 9fi=x Rz gl
(3) 4 o9 g%

(4) 4 Tl T8

83. Y TWEME & WY TE =G A/

A Y A S D

(1) = g9 & 7™ 4
(2) T W & 99 d
(3) HEMUSAYER & A 9
(4) T Bl & T9 9

ae Rearel, e e fiatas 2020
§ gl § T qeh S

(1) SoTCT gfar
(2) 9 FER &R
(3) iU g
(4) fomst ®rTE

Level-1/101

8l.

82.

83. The

Which of the following cities of
Haryana is not the part of National
Capital Region ?

(1) Hisar

(2) Sonipat
(3) Faridabad
(4) Gurugram

Who is the leader of the opposition
in 14th assembly of Haryana ?

(1) Shri Bishan Lal Saini

(2) Shri Bhupinder Singh Hooda
(3) Shri Anoop Dhanak

(4) Shri Ranjit Singh

Nath
Chaturangi

Baba
Nath

sect Sadhu
Nath/Chaurangi
was also known as :

(1) Siddh Purush

(2) Purna Bhagat

(3) Mahamandaleshwar
(4) Sant Kavi

84. The player, who won the Silver

medal in Wrestling
Olympic 2020 :

in Tokyo

(1) Bajrang Poonia
(2) Ravi Kumar Dahiya
(3) Deepak Poonia
(4) Vinesh Phogat



[23] [A]

85. fy=feifag § 4 fhom Sifepdw omafy 85. Who among the following served
d% BT & el & ®9 § &M longest time as the Chief Minister of
fepar ? Haryana ?

(1) S (1) Bansilal

(2) ST (2) Bhajanlal

(3) R (3) Devilal

(4) U= e ggel (4) Bhupinder Singh Hooda
86. I HoFl I AMUGH TeT : 86. Read the following statements

carefully :
() e &%a i e § g8 J91 (i) Bhiwani is the largest district
forem 21 area wise.
(i) RER SwEenr @ 3fic 9 9= (ii) Hisar is the largest district
g1 foraT R population wise.

ACER I NG PR 0 LU Choose the correct option :

(1) %ad 99 (i) Tl g (1) Only Statement (1) is correct

(2) %ad I (i) q& g (2) Only Statement (i1) is correct

(3) T & (i) 9’ 7 & (i) T B (3) Neither (i) nor (ii) is correct

4) TN B TRl (4) Both the Statements are correct
81. ﬁrl?*ﬂ, fored Haifier aqes 2 81. The district, which has the largest

forest area :

(1) Veas (1) Rohtak

(2) fear (2) Hisar

(3) YT (3) Yamunanagar

(4) TE-IEA (4) Charkhi-Dadari

Level-1/101 P.T.O.



[A]

88. BN H TUKME UY SRS
Heg e B d Rea & 7

(1) BER
(2) FEW

(3) TR
(4) Ve

go. Fr=iiad 3 gaf HRr -

oS
(A) fear

(B) ToI™
(C) T
(D) Ued®

% -

(A (B)
(ii),
(2) (i), (@),
(iii),
(iv),

(1) @),

(3) ),
4 (),

ot
(i) dergan
(i) |
(iii) TRTE
(iv) ferar

<€ (D)

(@), (i)
(iv), (1)
@, (i)
(i), (1)

90. f=fafead & & Hi9-|1 el w787

g7
i

(1) SgEd e
(2) PigEmE 3a
(3) daall A

(4) o et

o
LT [
EEYLY

[24]

88. In which district of Haryana the

'National

Institute  of

Animal

Genetics' is located ?

(1) Hisar
(2) Karnal

(3) Yamunanagar

(4) Rohtak

89. Match the following :

Division
(A) Hisar
(B) Gurugram
(C) Ambala
(D) Rohtak
Codes :

A (B)
(1) Gv), (i),
(2) (), (1),
(3) ),
4 (i),

(iid),
@iv),

District
(i) Panchkula
(i) Sonipat
(ii1)) Mahendragarh

(iv) Sirsa

<€ (D)
(1), (i)
(iv), (1)
@), (1)
(1), (1)

90. Which of the following pair is not

correctly matched ?

Lake

(1) Badkhal Lake
(2) Bhindawas Lake -
(3) Chandeli Lake
(4) Bulbul Lake

Place
- Faridabad
Jhajjar
Gurugram

- Jind

Level-1/101



[25]

[A]

9N - IV (PART - IV)
TP (MATHEMATICS)

3T : R 797 % o7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

9l gy 223 14
8"

R

(1) -1
) 1
3) 0
4) 3

92. 3y
8%7—5%6 & A & :

axb=a+b+ab

(1) 56
(3) 40

(2) 45
4) 30

g, @ x & M

g,

9l1.

92.

If 227 =——

prary then the value

of x is:
(1) -1
2 1
3) 0

4 3

If axb=a+b+ ab, then the value

of 8 *7—5 %61s :

(1) 56
(3) 40

(2) 45
4) 30

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[A] [26]

93. ¢ y+l:1 aan x+l:1, @ xyz 93. If y+l:1 and x+l:1, then the
z y Z y
H A R value of xyz is:
(1) -1 1 -1
@)1 2) 1
(3) 2 (3) 2
(4) T & HT G (4) can not be determined
. 3 1 .3 1 :
94. f&El €& ® ﬁl@'ﬁ% ® 2 E3) 94. Ifgofzofa gofthenumber1s24,

1 then 20% of that number is :

— 9T 24 &, @ 39 G H 20% D :

5

(1) 66 (1) 66
2) 72 2) 72
(3) 96 (3) 96
(4) 48 (4) 48

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



95.

At uh wem 81097 x 7' & H
g, @ & T e & AW [MEvs!
F HE §

(1) 36
(3) 52

(2) 46
(4) 55

12, 15, 18 @ fawifsg 89 archt @=9

Bl o O He ©

(1) 400 (2) 900

(3) 2500 (4) 1600

112 +122 +13% 4o +20° @
qH 2 :

(1) 2685 (2) 2585

(3) 2870 (4) 2485

[27]

95.

91. The

[A]

If a number is of the form
810><97><78, then the number of
prime factors of the given number
1S :

(1) 36
(3) 52

(2) 46
(4) 55

96. The smallest perfect square number

divisible by 12, 15, 18 is:

(1) 400 (2) 900
(3) 2500 (4) 1600

value of
112 +122 +13% 4o, +20% is:
(1) 2685 (2) 2585
(3) 2870 (4) 2485

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[A]

98. fy=foiiad Siief & & HH-A1 W @

A & H 8 ?

(D (7,49)
2) (17, 25)
(3) (8,52)

4) (13,91)

99. g fedbel & 1 § 12 T HHied
e T Bl Ak S ¥ wh fewe @
agfed o R SW, @ e W
Sifehe T&A & 2 A 3 & YO BN

e & ¢
1

(1) 3 (2)
5

3) 3 “4)

(SSR S)

[E—

[28]

98. Which of the following is a pair of

coprime numbers ?

(1) (7, 49)
(2) (17,25)
(3) (8,52)

4) (13,91)

99. Twelve Tickets are numbered from

1 to 12. If one ticket is selected at
random, then the probability that the

number on the ticket is a multiple of

2or3is:
1
(D 3 2) -
5
d 4) —
3) 2 4)

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[29] [A]

100. Tiforq 9y Sepict 2 100. The nature of Mathematics is :
(1) SRR (1) Ornamental
(2) ®fe (2) Difficult
(3) e (3) Logical
(4) rFaRgd (4) Unsystematic

101 W@y 3 & Ocw@EZsd 4 9 99% &l 101. Ramesh sold two motorcycles for Rs.

54,500 ®9 ¥ F&T SH TH W 8% 54,500 each. He earns profit of 8% on
AT AR g{:ﬁ W 8% =M ?;T:‘e& R = one motorcycle and suffers a loss of

8% on another motorcycle, then his
A el orger A e ©

net loss or profit in this deal is :

(1) 7 9 oY 5 & &+

(1) Neither profit nor loss

(2) 6.4% & (2) 6.4% loss
(3) 0.64% @ (3) 0.64% profit
(4) 0.64% &=t 4) 0.64% loss

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101 P.T.O.



[A] [30]

102. ©x GHSEYS & UdH ATHT H AN 102. If each interior angle of a regular
150° &, @ EEL 4 ‘ﬂmaﬁ P GE polygon is 150°, then the number of
3. sides in that polygon is :
1) 72 (1) 72
@) 7 2) 7
3) 12 (3) 12
@) 36 4) 36

103. witrg fReer & SR B ol & | 103. Which one of the following
STER fefefag & @ #9-4r objective is related to affective

AT T aEreg § 7 domain according to the taxonomy

of Mathematics teaching objectives ?

(1) 9=

(1) Co-ordination
(2) HeTTT (2) Synthesis
(3) frATaE (3) Manipulation
4) g~ (4) Organization

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



A T FE & 25 R § qU & qean
g X B 36 & & 15 KT A Q@
HT GhaT B, aHl 3 et 5 T e
e ok 6% U= A 7 ¥ B
feam, Y @ Hd B QW HA T B H
fha T |9 @R ?

(1) 7%

(2) 179

(3) 9

4) 67F

13 uRomet @0 ofed 65 8, 3R ued
1 qReTHT 1 S 62 & e Sfem
. IRomEt & fed 67 &, o aaar
gy & -

(1) 54

() 58

(3) 60

(4) 52

[A]

104. A can complete a particular task in

25 days whereas B can finish that
task in 15 days. A and B together do
the work for 5 days and then A
leaves the task. How many days will
B take to complete the remaining
task ?

(1) 7 days
(2) 17 days
(3) 9 days
(4) 6 days

Average of 13 results is 65, if the
average of first seven results is 62
and the average of last seven results
1s 67, then the seventh result is :

(1) 54
(2) 58
(3) 60

4) 52

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[A]

106.

ot
]

[
(=

A TF g H owem SR mifehe
FA: 60 AR 48 B, Tl de & qgad
2

(1) 50 (2) 36

(3) 24 4) 18

U g Bee R 9o 6 & T,
P S SR :

() 338 (2 399

(3) /3 &l 4) 943

g5 'ENGINEER' &% &7t @ e
g% g9 S 9%d & 7

(1) 3360 (2) 40320

(3) 20160 4) 6720

[32]

106.

ol
]

=
S

If mean and median of a distribution
are 60 and 48 respectively, then

mode of the distribution is :

(1) 50 (2) 36

(3) 24 4) 18

Height of equilateral triangle having

side 6cm,is:

(1) 33ecm (2 3cm

(3) V3 cm 4) 943 cm

How many words can be formed

from the letters of the word
'ENGINEER' ?

(1) 3360 (2) 40320

(3) 20160 4) 6720

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[33] [A]

109. T TH ﬁﬂﬁ 4 T @ 50° H 2 109. If one angle of a triangle is 50° and
qer AT A9 BN BT S 30° 7, @ difference between the remaining
A § | B P H AW @ two angles is 30°, then the value of
smaller angle is :
(1) 40° (2) 80° (1) 40° (2) 80°
(3) 50° (4) 60° (3) 50° (4) 60°
110. Ush CaDIE I & HAAMET &l % 110. In an officeg of total employees are

A Ak ¥ e 9w ey ¥ oAl

female and rest are males. If %part

HieaAl B % qRT T gEN i

of females and i part of males are

absent, then what part of total

HIF-A1 AN SR & ?
¢ employees are absent ?

17 23
1) —— 7y =2 17 23
V% ¥ % D3 @5
7 19 7 19
3) — 4) — — —
(3) 30 4) 30 Q) 20 4) 20

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101 P.T.O.



[A]

111.

ol
ol

9 i Bl ax U 4g d W
fygemeRt 0.6 T Bremm @ 8 Mt
S S €, Biel Mol & €e © ¢

(1) 3345 (2) 3275

(3) 3375 4) 3475

q demell & HeOH wHYad R
TgTH §EEd & A 504 § e
g HHIYEad, HEdH GHYGE H 55
Ton B AR uE H@em 99 8, @ gEd
HeE §

(1) 45

(2) 81

(3) 56

(4) ST & BT Fehd

[34]

111.

e
[

A metal sphere of radius 9 cm is
melted and small balls of radius
0.6 cm are being made from it, the

number of small balls are :
(1) 3345 (2) 3275

(3) 3375 (4) 3475

Sum of the HCF and LCM of two
numbers is 504 and LCM is 55 times
of HCF. If one number is 99, then

the second number is :

(1) 45
2) 81
(3) 56

(4) can not be determined

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[35] [A]

113. ug it 4 2 507, 1 5 X 50 W 113. A bag contains coins of Rs. 2, Re. 1
%WWSTI6:7:15%GWﬁ and 50 paisa in the ratio 6 : 7 : 15
S o X & B o 1590 7 T respectively. If the total amount in
. the bag is Rs. 1590, then the number
A A 1 B & R ) HE © o ,
of 1 Re. coins in the bag is :
(1) 360 (2) 420 (1) 360 (2) 420

(3) 900 (4) 600 (3) 900 (4) 600

114. 9 9f 7@ WT AR G B TG A 114. 3 years ago, the ratio of Ramesh's
U 5 ;9 o U a9 v I8 and Suresh's age was 5 : 9. After 5
years this ratio would be 3 : 5. The

AU 3 : 5 B R FH FAHH Y

3 present age of Suresh is :

(1) 75 a9 (2) 43 a9 (1) 75 Years (2) 43 Years

(3) 72 a9 (4) 40 99 (3) 72 Years  (4) 40 Years

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101 P.T.O.



[A] [36]

115. It x+§:4 S-T, @ x4+é3b'[rﬂ:[ 115. If x+i=4 , then the value of
g X4+x_14 is
(1) 194 (1) 194
(2) 174 2) 174
(3) 144 (3) 144
(4) 154 4) 154

116. fy=foiRag § 9 -9 ER@’EIE‘ TR 116. Which of the following is not a

® T F Qv 7&F & ? characteristic of objective type test ?

(1) oThed 3 foe etfte Aesa/yaE (1) Needs more labour/effort to
B SGYIHAT assess

(2) oTfeep fasaa-iaan (2) Have more reliability

(3) oTfe/s Jerar (3) Have more validity

(4) W & feRer o ALK (4) Easy to determine norms

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[37] [A]

117. 9 3fH B Eﬁﬁ q EE?[ g S 15, 117. The greatest number of four digit
25,40 X 75 ¥ fawifora &, ® - which is divisible by 15, 25, 40 and
751s :
(1) 9400 (1) 9400
(2) 9900 (2) 9900
(3) 9600 (3) 9600
(4) 9800 (4) 9800

118. g 5x-3=3/5+2 & @ x & 118. [f /5x—-3=3.5+2, then value of

T B x is:

(1) 3+45 (1) 3+45
2) 3+35 2) 3+3V5
(3) 25 +3 (3) 245 +3
4) 3J5+2 4) 3V5+2

% %@ % [ € (SPACE FOR ROUGH WORK)

Level-1/101 P.T.O.



[A]

119. ue B J TH [T H 65% 3% o
R o SE ol fawd & @ 9]
fowat & swuar 78%, 70%, 62% AR
65% % ara 63, ar dred fawg A
fpee ufderd ofe ar fea ?

(1) 52%
(2) 48%

(3) 50%
4) 54%

120. g g5 F 9OF 4 a¥ B oV A
UeT U 2, @ g H AN S5 ad B, A
9 g g5 & g ©
(1) 1599
(2) 2199

(3) 168
(4) 19 a8

[38]

119. A student scored 65% marks in an
exam. If he scored 78%, 70%, 62%
and 65% marks in four subjects out
of five subjects, then what is his
percentage of marks in the fifth

subject ?

(1) 52%
(2) 48%
(3) 50%
(4) 54%

120. The sum of ages of 5 children born
at the interval of 4 years each is 55

years, the age of eldest child is :

(1) 15 years
(2) 21 years
(3) 16 years
(4) 19 years

% &4 % [ € (SPACE FOR ROUGH WORK)

Level-1/101



[39] [A]
AR - V (PART - V)
i 319 (ENVIRONMENTAL STUDIES)
3T : Rl 797 % o7 &7 & [ qag ST [dwey g
Direction : Answer the following questions by selecting the most appropriate option.
121. ‘& PEmithed &= % Himed’ 121. The book 'The Geographical
g s ar ol 8 o ? Distribution of Animals' was written
by :
(1) TShE T K (1) Alfred Russel Wallace
(2) & @ fesnian (2) Alfred Russel Teoria
(3) e @ A (3) Alfred Russel Maler
(4) The T Hiad (4) Alfred Russel Francis
122. fr=fofag & @ HF-AT I a9 919 122. Which of the following instrument is
3 99 & 8 ? used to measure Rainfall ?
(1) I ®eT (1) Rain Fedar
(2) GEg AE| (2) Federal Weather
(3) a9t HER (3) Rain Tower
(4) aurTdq (4) Rain Gauge
123. TP & @ fggemd am (5o 123. According to World Wide Fund
g=go Tho) % FYER F=fafad § 4 (WWF) for Nature, which among the
PA-G T4 g § T8 Geas ARl following river is one of the ten
43 LC7) g7 endangered rivers in the world ?
(1) e (2) T (1) Godavari  (2) Yamuna
(3) T 4) 99 (3) Ganga (4) Saryu
124. 379 WA & &9 & SR 2 124. The cause for the depletion of the
ozone layer is :
(1) Tho Tho Hio (1) F.F.C.
(2) Tho Hlo Hio (2) F.C.C.
(3) Hio Hlo Tho (3) C.CF.
(4) Hio Tho Hio (4) C.E.C.

Level-1/101




[A] [40]

125. In India, which of the following

T TR ol @fkEl @ R award is given to rural communities
SIdr %, N a9 g & wn H and individual, who have demonstrated
A ded R THd & e extreme courage and dedication in
fpam & 7 protecting wildlife ?
(1) U TS JTEh (1) Pant National Award
(2) S| <l %l-‘?‘h?? RASSIR (2) Amrita Devi Bishnoi Award
(3) AR JTERT FiorT (3) Medini Puruskar Yojana
(4) 3R T giawer RSN (4) Indira  Gandhi  Paryavaran
Puruskar

126. T% STANGDI W ¥ I8 U % An American scientist, showed that
dfeq o oUe qEl d S R lightning and the spark from clothes
areqd § U & uReed ®| S Ash are essentially the same phenomenon.
T AH FME? What is the name of the scientist ?
(1) ST 2are (1) Benjamin Hobart
(2) ST H3TH (2) Benjamin Keough
(3) A HepfeT (3) Benjamin Franklin
(4) S N A (4) Benjamin Van Leer

127. MCBT #1 & ? What is MCBT ?

(1) Hfceqd Hifreqe™ fSRfERa adl

(2) e %9 qC oo
(3) AfeHA FAed q@H oI
(4) &I HIHISTET S T

Level-1/101

(1) Multiple Combination Behavioural
Therapy

(2) Metal Case Boat Tail
(3) Medical Cannabis Bike Tour

(4) Madras Crocodile Bank Trust
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[
N

[
o

[
[

s@wmﬁwﬁﬁmﬁ
quu%qoq(a?rkm H &b oI A
Yo% FeaM e H &1 U TH H
W:ﬁwwgﬂ%wwwm%
B0 FHglM [efied s & ol
SYART H QT o R

(1) <e® H T B Aad
(2) F4

(3) TEH B

(4) ¥z @i ofrr (gEh)

fr=ifoifeg & @ s9-a1 Ay e ?

(1) e

(2) UgifereH
(3) Spicrs T
(4) 9T et

CO, 7@ ¥F &R 4 § | T 2l
frefofeg & @ ®9-8@ o= N d=
B39 U9 T HROT Sl & 7

(1) #8, g ifrgs
(2) Hig, TR0

(3) 9FH, g eifFEs

(4) HiEF, wAE

HIEET 1 SUERT 6T ST ©
(1) <shard &l i B Ao & ol
(2) B9 A9 F o

(3) aut A & ford
(@ﬁaﬁzﬁwwaﬁﬂmﬁ%
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[A]
In some cities and towns,
municipalities  provide  separate

dustbins for collecting two kinds of
garbage. Usually one is coloured blue
and the other green. The green bin is
for materials such as :

(1) Plastic water bottle
(2) Glass

(3) Ironrod

(4) Plant leaves (dried)

Which one is odd one out from the

following ?

(1) Coal

(2) Petroleum
(3) Natural gas
(4) Wind energy

CO, is one of the major green house
gases. Which of the following other
gases cause green house effect ?

(1) Methane, Nitrous Oxide
(2) Methane, Chlorine

(3) Argon, Nitrous Oxide
(4) Methane, Fluorine

Seismograph is used for :

(1) To measure speed of cyclone
(2) To measure earthquake

(3) To measure rainfall

(4) To measure charge on any metal
rod

P.T.O.
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TSN

Frfefad & | i o 991 78 § 7

(1) gt

2) 34

3) &

4) <
Frfofed & & HH-81 Rfte weiks
qiRRefod o= § &+ ff Ieer T A
b & 7

(1) g& %1 e

(2) T I & Hha 8

(3) ¥R & s

(4) o @& TR

A T B Al B HEl B @

A U MU e # wEEar § gel
SR B T HINT -

PIAH-A FiqH-B
(a)  oTeHl (i) 6T & B
(by wm (i) TEICERR T
(c) G BE (i) 9N
HT1ZS
(d) e (iv) BT A
CIEIN iE
%c -
(a) (b) (©) (d)
(D (1) (i1) (i)  (@[v)
() (v) () (1) (1)
3) (1) @iv) () (iii)
“4) (1) (i) (11) (iv)
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Which one of the following is a

dwarf planet ?
(1) Earth

(2) Mercury
(3) Venus
(4) Pluto

Which of the following pyramids
can never be inverted in a natural

ecosystem ?

(1) Pyramid of numbers
(2) All can be inverted
(3) Pyramid of biomass

(4) Pyramid of energy

Match Column A and B and select
the correct answer using the codes
given below :

Column-A Column-B

(a) Asthma @) Caused by
smog

(b) Smog (ii))  Polluting gas
(© Sulphur (i) Mercury

dioxide
(d) Minamata (iv) Fog and

disease smoke
Codes :

@ (b)) () (@
1 (i) @ o (v)
(2  av) @) @ @)
3 O (iv) () (i)
@4 @ G @ (@14v)
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135.

g waier fRaq o %o
)ﬁo‘aars?ﬁqﬂwweg@l

(1) 1974
(2) 1972
(3) 1971
(4) 1981

frfafeg & § @9-9 MaX & WY
% qaq Ol B 8, S 9% gal W

Ie- I Herdl Hid & 7

(1) o well

(2) gdr =g
(3)
(4) A @l g Hew

fr=ifeifeg & @ 9-91 a9 I 78
g7

(1) &

(2) «iEde
(3) 9 ()
(4) BARE
Tt awt
Sl % HROT Bl ol
(1) FIeH, BRBRE

(2) X, AZLISH

(3) PR, TEE

(4) TGS, TSI
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[A]

First World Environment Day (WED)
was celebrated in which year ?

(1) 1974
(2) 1972
(3) 1971
(4) 1981

Which animal out of the following
has sticky pads on its feet to help it
climb trees ?

(1) Toucan Bird
(2) Polar bear

(3) Penguin

(4) Red-eyed Frog

Which of the following is not a
forest product ?

(1) Gum
(2) Plywood
(3) Lac

(4) Kerosene

Acid rain is caused by the oxides of

(1) Carbon, Phosphorus
(2) Sulphur, Nitrogen
(3) Carbon, Nitrogen

(4) Nitrogen, Fluorine
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139. fa@ Mo fRad A/ S B 139. World Ozone Day is celebrated on :
(1) 18 3TeFgalX (1) 18 October
(2) 16 f{a=R (2) 16 September
3) 17 Aa%X (3) 17 November
(4) 16 3T (4) 16 August
140. Higar ‘i WA % & ofsme A= 140. The poem "The Rime of the Ancient
fpe g foeht T & 7 Mariner" is written by :
(1) o fafcre=a (1) John Williams
(2) Sit9 A (2) John Rose
(3) THo Tlo HiANS (3) S.T. Coleridge
(4) T HEEN (4) Stuart Firestein
141. ffafed & & dF-a1 qRRAf® o 141. Which of the following ecosystem
gef? R Al & H SAsIied B covers the maximum area on earth ?
(D) ‘El'ﬂf[ qRRef 7 (1) Marine ecosystem
(2) 919 I e aifeafoent O (2) Grassland ecosystem
(3) IR ARt o (3) Desert ecosystem
(4) gadE aRRefor I (4) Mountain ecosystem
142. ‘YRAE TIT ddeOr & e fhd 142. '"Zoological Survey of India' was
ay # @ T o ? established in the year :
(1) 1814 (1) 1814
(2) 1875 (2) 1875
(3) 1916 (3) 1916
(4) 1969 (4) 1969

Level-1/101
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143. B FT & ?

(1) T verd

2) TF ARH

(3) Th T

(4) U fysror

%EF?T Heicdd’ fhd weM H A S
(15 = (2) B

(3) IR (4) =

friaiag & ®M-9 Sax & Fefaied

T E 7

() 3o9 go @ s (AT afe)
dig B B

(i) 39% TEX Y3 §C @ SR W B
g

(i) 39 SRX X 911 Bl & Hiel 91
Bt B

(iv) 3G @ B A 9 B TF W/
Bl 2

(1)

(2) U 9]

(3) g dcS Habl

(4) T Tl

g & UMl A JREET e ST
A ©

(1) & & 3™
(2) fuld R 8
(3) g di fafeeer &
(4) IUEROT BN
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[A]

143. What is Air ?

(1) A substance
(2) A compound
(3) An element

(4) A mixture

'Van Mahotsav' is celebrated in
which month ?

(1) September (2) February
(3) July (4) March

Which of the following animal has
the following adaptations ?

(1) It has a very strong sense of
smell.

(i) It has long curved and sharp
claws.

(111) It has two thick layers of fur.

(iv) It has a layer of fat under its
skin.

(1) Penguin

(2) Polar bear

(3) New World Monkey
(4) Toucan Bird

Sea water can be purified by :

(1) Filtration

(2) Reverse osmosis
(3) U V radiation
(4) Osmosis
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1471. T &l Elﬁ?l‘ﬂ fed & fog HH- 147. To disinfecting the water which
o fafy Suge 7@ f B ? method is not suitable ?
(1) fheshd & ®ha (1) Coagulation by Alum
(2) FE (2) Filtration
(3) TR &l Mol § Jfaehi (3) Purification by chlorine tablets
(4) ST (4) Boiling
148. FHHHE U A © 148. Vermi compost is obtained from :
(1) M 4 (1) Round worms
2) %ﬂq q (2) Earthworms
(3) oriET | (3) Amoeba
(4) womEIead | (4) Plasmodium
149. fOgd SO FA & [ W R 149. An instrument used to generate the
S aTe YR ® electricity 1s :
(1) g e (1) Wind vane
(2) 9a afrRat (2) Wind mills
(3) g hX (3) Wind cutter
(4) &@r I (4) Wind ball
150. IEYi M F@Gﬁ ® qd T &l gad 150. The micro-organisms which convert
4 gRafkd A A q&mﬁa EII | the dead plants and animals to humus
g are known as :
(1) (1) Deforestation
(2) a7 IR (2) Crown
(3) &l (3) Canopy
(4) SUHIH (4) Decomposers

Level-1/101
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R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

J
. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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